calculator fesf

13 Evaluate to 2 decimal places
i where necessary )

B A4z -
by 37 + 5.6 =
£l 429 - F1T =
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2) Evaluate to 3 significant
figures.
al 364 =

by . /f9.1 =
) 1

hy 5.1 %87
47 + 3.2

3) State the number of
significant figures.
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4) write each calculator
display as a basic numeral.

=13 06

7 of §43 =
20% of §521 =
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Bla) & shop has a 35%
discount sale. Find the cost
af an article with a marked
price of $48. (show warking)

b} Lisa deposits $45 in a
savings account, receiving

14% p.a. interest. How much
will this amount to after

1 year. (show working)

71 Evaluate to 3 dec. p

al  g7E+ 1.82
(49 - 1312

bl 574+ 57
54 -1

) A7 + 3.4

76+ 23
d) 35 49
1.7 1.2
el g4+ 7.21)5
(6.1 + 347

f) (25)2+ (1.8)7

g0 (4.3)% % 00021

hi 522 -./37

i 03T+ 1.47
3.5

it 47 -i(34 +1.2)

5 -03



